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MID TERM EXAMINATION
CLASS: XII
SUBJECT: PHYSICS
TIME : 3 HRS. M.M. 70

General Instructions :
i)  All questions are compulsory.
ii) Thereare 26 questions intotal.

iii) Questions 1 to 5 carry one mark each. Question 6 to 10 carry two marks each.
Question 11 to 22 carry three marks each. Question 23 is value based question
carry 4 marks and question 24 to 26 carry five marks each.

iv) Thereis no overall choice. However, an internal choice has been providedin 1
question of 2 marks, I question of 3 marks and all questions of 5 marks each.

v)  Use of calculator is not permitted. However you may use log tables, if
necessary.

vi) Youmay use the following values of constants.

C =3x10"m/s
h=6.63x10>Js
e=1.6x10"C

m, =9.1x10”" kg
p, =47x10"TmA™
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I-V graph for a metallic wire at two different témperatures T, and T, is as shown in
figure. Which of the two temperatures is lower and why ?
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Instantaneous current in a circuit is I=4 sin 300t A. What is the average value of

current from t=0 to t—ms
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Predict the direction of induced current in a metal ring when the ring is moved
towards a straight conductor with constant speed v. The conductor is carrying steady

current | in the direction shown in figure.
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Sw #fae ¥ &1 = faRay Riwer frafa & a9, Imm v ded & geg awn
a2 1600 A° &) s+ fafezon @ forg s vear 2 | 1
Name the physical quantity which is remain same for both microwaves of

wavelength Imm and uv radiations of 1600 A° in vacuum.

fod) S 9w @ uaref &1 Juad=i® 1.5 2 | I 1.65 IJuadaH & feeft Areaw A
S A A BAEA? 1
A convex lens of refractive index 1.5 1s immersed in a medium of refractive index
1.65. What is the nature of the lens in the medium?
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1) Cantwo equi-potential surfaces intersect each other ? Give reason.

ii) Two charges -q and +q are located at points A (0,0,-a) and B (0,0,+a)
respectively. How much work is done in moving a test charge from point P
(7,0,0) 10 Q (-3,0,0)?

or
Use Kirchhoff’s rules to determine the potential differences between the points A

and D when no current flows in the arm BE of the electric network shown in figure. :

e D v
< §R L
—3v ?
P
B I4\! k
7. &0 gedta gt 3 gadia ggiy 2.6x10° 2 | wgaifR % a7 f5a yarR &1
qaa1d ygred 2 | 399 < N &1 Sca @ BIfY | 2

The susceptibility of a magnetic material is 2.6x10*. Identify the type of

-magnetic material and state its two properties.

8. 3musl 3l yueHf s AT BRyu 1y 2| 99 9 vs <5 g9a 2 Afva e W=
dle &1 gHel 2 | Y f5e ave aa1 wad 2 5 o @/ <5 guw ot W 2? 3w
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You are given two identical looking bars A and B. One of these is a bar magnet and
other is ordinary piece of iron. Give an experiment to identify which one of the two

is bar magnet. You are not to use any additional material for experiment.

9. U HIfNY & Frafa 4 ve dga e air srdga aa @ -
Ey = 30 sin (2x10"t+300xx) Vm"
®. X el &1 4 Fa SRy |
W 9T B qadly &% @ v @ue fakay | 2
The oscillating electgric field of an electromagnetic wave is given by
Ey = 30sin (2x10"t+3007x) Vm
a)  Obtain the value of wavelength
b) . Write down the expression for oscillating magnetic field.

10. ﬁsmﬁa}mmmﬂvmmwaﬂm&Mmma} fakRCa
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Use mirror equation to show that an object placed between F and C of a concave

mirror forms an image beyond C.
C— Centre of curvature, F— Focal Point.
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A long charged cylinder of linear density +A, is surrounded by a hollow coaxial

conducting cylinder of linéar charge density -A,. Use Gauss’s law to obtain

expressions for the electric field at a point (i) in the space between the cylinders, and
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